00000 0000 (20150 70 150)

001. n0n,000000000 M(n,C)O0O0O0D00 U(n)O SU(R)O
Uln) = {U € M(n,C)| UU* = B},  SU(n) = {U € U(n)| detU =1},
0000.000,U*=0U0U000000,E00000000.
(a) U(n)0 SUM)0000D0D000000O0DOO00OOO.

(b) 30000 83 = {(xo,21,79,23) € RY Y2 22 =1}0 SU(2) 00000
000000000, (000: 000U eSU((2)0000000 w000
000000000000.)

(¢) 00000 U(1)—SU(2)0000D000.(000:00000000.)
002 0GO00000HCGOOOOOOOO,HO GOOOO HxG—G
0 (h,g)—hgO0OO00.000000000000000.
003 000.000,00.,00000%,=(C|CYO00.

() DOOOD Z,— SU(2)ODO00DOOOO.
(b OUODO Z,00000000C0DO0O0OO X,0000000.

(¢) 0000 Z, xZ, 0000000000000 X,,,0000000. (0
00:000000000000000.)
004 00n>0000,0G,0000000:

Gn = (e,C 0| &,CeC7 et geo e, O 527 oCoCe™t).

(a) G, 0000 8n+400000000.

(b) 00000 G, —» SU2)0D0O0D0OO. (000: G, 00000000
Z4n+2gZQXZQn+1DDDDDDD.)

(¢ OO0 G, 0000000000000 X, 0000000.

go.

http://math.shinshu-u.ac.jp/ kgomi/class/index.html.
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oo 1.

(a)

oo 2.

()
00 4.

(a)
(b)

(-1 0 Cos emiT 0 (0 -1
¢ 0 -1 )° 0 e 25| ° 1 0 )
1

()

00000 0000 (20150 70 150)

UV eURDOOOOD UV)UV)*=UVV*U*=UU*=EQ0O0O000O
0,0UM)xUM —U@®ODODODOD0O000.000000000,000
UV,W e U OOOO,(UV)W=UWVW)0O0O0O00O. 00,0000
E0U(R)ODDOODOD,000UeU(ROOODDOODODOO U =U*
0U(RODO0O0OO0.0000,E000000,U°'00000000,
U(n)0ODDO0000O0000.
000,SU(O000000000000,000 det: U(n) — U(1)
0000000000000000. SU(OO00D00000000000
0,U(r)0000000,00000000.
000U e SU@) O, [u+p?=10000000 uw,v e COODODO,

U:(“ __”)DDDDDD.DDD,
v u

3 Ty +1r1 —To + 173
§° = 8UQ), (xo’xl’mz’%)'_)(x2+ix3 To — 1T1 )
000000 S*00 SU(2)000000oo.
U(1)—>SU(2)DUH<“ 0

0 @
ooooo0o0o0ooo.
O00geGOheH h#10000,hg+#¢0000000000, H
0D GO0000000000.

)DDDDD,DDDDDDDDDDDDD

eQTri/n 0
DDDCH( 27”./”>DDDDDDDDDDD.

0 e
() 00000, Z, 0 SU(2)LO0O0000OO. OO0, 00 1(b)OO
0, SU(2) 0 Hausdorff 00O DO S30000. OO0, 00 200, 0 Z,
0 Hausdorf 0000 SU(2)DO0O0O0OOOO. DOOOOO, 00 p:
SU2) — SU(2)/Z, 000000. SU(2)~S*0000000000, O
O Zy, & m(SU(2)/Z0)/ps (m (SU(2))) = m1(SU(2)/Z,) 00000, 00
0o, SU2)/Z,0 X,00000.
00000000, (SU(2)/Zw) % (SU2)/Z,) 0 X, 00000,

G,000000,G,0000000,8:+40000000000 e0®CF,
(a=0,1,b=0,1,k=0,1,...,20)00000000000.
0oo,G,00000,S0(2)000000000000000:

oooooddd e : G, — SU(R)ODOOO0O. a=0,1,b ,
0,1,...,2n 0000, ¥(c%?C*) = FODOOO,a=b=k=00
0000,y 000000.

()0 b)DODO, G, 0 SUR)DOODDODDODO. 000,000 G, 0
Hausdorff 0000 SU(2) ~ S 00000000. OD0ODDOODOO, OO
p:SU2) - SU(2)/G,000000. SU(Q)UODODODODODOODODOO,
00 G, 27 (SU2)/G,)/p«(m1(SU(2))) =2 1 (SU(2)/G,) ODODODODO. O
ooo,SU(2)/G,0 X, 00000.



